due: April 16 Homework Set 4
Sect 8.4: the Root Test

Use the Root Test to determine whether each series is convergent or divergent. If the test fails,

state this, and then determine which test should have been used to determine convergence.
1

" Zn-t |1 . ]‘"" JT

(2"—1)n/2 L. = Lin e ) = Lim A2 =4Vz 7]

n+7 M0 W=y 00

o]
e 1. 3
n=0

Diverges

2.2(”“) .‘5‘3_.:: - 1/3 L\

= 3n—1 L. - L\.’;‘V\
=00
Convexﬁeé)
3 § (Zn—ﬁ)sn 7 <
w1220 2 D] = Y
L = L\h:‘ Z-3ul = 3 = /2 &
=00
C,ov\\:ev—ﬂe/s
(o]
4 i 3
= L= Lim —— = 024l
W =00 "
C,onve,,mae/}
3 2
" o Ve Yy yysn 1245w
X A = L =_h P RO
1 L. = ||::oc> 1ven ki M2
= Lun zq‘rgn—an 3‘—*?:0 <\
n=poo Chy - n-awm €
Cop\v‘ev-ﬁw
6. > (Yn+1)"
n=0 v B
L = Lim («/"n'ﬂ) =1+l N =lyre =2 %
4, naow
. \n(w) " Vi
- L' _ . L _ = Ll " -
L:‘:w \” (-“ ) - L‘mw h]”("‘) = Lil"::rw " ht::w \ 0]

”vaf/cj\%



